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>>INSTRUCTOR:  Good evening everybody.  Welcome to baby bar series we'll start in approximately 1 minute.  Make sure you are the multi‑state lecture 2 in front of you.

Let me know if you can hear me loud and clear we'll use this as a sound check, thank you.

Good evening everybody and welcome to tonight's baby bar mini-series, we'll be directing you back to your multistates.  So if you can make sure that you the multi‑state lecture No. 2 in front of you that will be our primary focus.  Now, remember with multiple choice questions they're objectives so what you need to do is realize there's 4 answer choices and you need to determine what is the best between the four.  Correct?  I'm sure by now you've got it down to at least the 2 and then of course how do we hone it down from there.  Now remembers these lectures are recorded for you convenience so if you want to go back and listen to the multi‑state lecture No. 1, they're up on task website in the student section so you're welcome to do that.  And sometimes the more you hear something and you hear it again and you hear it again, it clicks and makes sense this time verse it is first time I heard it I had no idea, we're all different in regards to how we learn so that's something I would consider.  Because multistates are difficult on this last baby bar, which would have been the June, people got slaughtered, I saw one student who passed the baby bar and her multi‑state score 68 raw.  And she did pass.  Her essay scores weren't that great either they were 65, 75, and she did get an 80 with that law multi‑state you can pass, but that's rare.  That tells you that multi‑state are tough, so they're getting harder, I've seen nothing but low scores from the last examination so there's a concern, I do have and that means when you do a master, stronger go in there and not falter.  Now, with the four options, obviously, you usually can narrow it down to two, and then of course you have to pick the best of the two and there are certain trick that we'll go over so you have a better understanding.  One thing I understand from talking to students as well.  Is time you have to practice your timing?  But, you must market every single multi‑state so if you have a minute remaining go bubble.  You have a better chance verses you know you missed it so if you 10 minutes left, bubble an answer, pick B all the way down, pick something because you 1/4 of a chance correct verses 0.

So there's no reason a student should what?

Every leave without completing the multi‑state portion exam that's silly, right?

And regards to can they make it easier not going to happen this is not how they look at things unfortunately.

The examiners in think that the multistates really test your black letter law verses the essays are more your logic, I don't necessarily agree with that, I know some of the tests are black letter.  You do need to use your checklist and break it apart and determine why is this answer better than the other.  And the one thing for you to look at is the language they use.  Right.  So if I have an intentional tort issue let's say battery, that's being tested.  And based on the fact pattern you see that he really didn't have the intent to harm the person, right he wasn't aware of his existence because it was in a remote area.

If you have an options and you narrow it down to A and B and A basically says well he didn't intend to harm him.  Verses B said he had no intent.  B is a better answer, because it's dead set going to the element that's being tested.

So, that's, you know, A is not wrong but B is better, we can actually hit the element.  So again if you have something that's factually correct, which A would be, verses B that's legally correct, B would be your best option choice.  So these are little things you've got to pick up and understand you know, what they're both not wrong but why is this better, that's why I always tell you answer the why, why did I miss this?  Okay.

Now, again you should be doing multistates daily right you need to concentrate on mastering how the legal concepts are tested in order to do well in this exam.  It's what I call like a game.

It's something that you need to understand how the issue is arrived based upon the facts, right.  And remember look at the language what are they trying to communicate to you, because unfortunately one word can change the whole fact.  Right.

So if I told you I tossed a wallet at you, and you're bringing a lawsuit against me for battery, well I use the word toss.  So there's a good argument there's no intent but if I said hurled.  Wait a second, that's a strong word.  Someone hurled something that's substantiate you acting with the intent.  That's important.  Yes you're allowed 1.8 minutes what you need to understand with that is crim law and torts a lot of those are short.  Contracts aren't.  Sometimes with contracts you need to take 2 or 3 minutes and you make them up on the shorter fact patterns such as torts or contracts.  If you're spending 3 minutes on a a contract question that's why I want you too to start doing simulated and that's why which sent some out there, you can make it up on this type of question that's important.  Remember you need to understand how the questions written, what are they really asking for?  What is the best defense?  What's the least likely outcome?  You've got to pay attention to those calls otherwise you're going to pick the wrong answer.  And a lot of times what's the least likely outcome that's negative to me?  So you're picking theB oops wrong answer so you have to pay attention to the call or again you know what's the defendant's best argument, defendant's argument stink they're no good.  But this is the best he's got, everyone though it won't work, it's the best of the lot.  You've got to remember that, so it doesn't mean it's going to succeed.

That's the call I'm stuck with it.  Right so that's important for you to understand.

When reading the multistates, I hope you all are doing this, because I know some of you do it online, start marking up that fact pattern you've got to raid the multiple choice questions very carefully, understand the facts and understand what they're trying to get you to look at.  Because they know because of the time crunch the examiners know you're in a hurry and you're not going to read properly they know you're not reading it for detail but as a lawyer you have to read for detail.  Because one fact can change the situation.  That's how they test.  Look at the language, look to what the facts are trying to tell you and the details in the facts.  If I say Joe the rancher, why is he a rancher, why did they classify the particular party, or Mary the minor you have to look at what they're trying to get you to focus on, this is important.  We talked about this before when you take a multi‑state question, you're always going to start off with the stem IE this is going to help you with the call of the question.  When grow into the baby bar, this is the tort portion this is the contracts and this is crim law they're all mixed you to figure it out under the time frame so if you read the stim you most likely know what the subject matter being test sod if you see plaintiff/defendant, looks like torts to me or contracted.  But do they say claim?  Theories?  In regards to liability and they lay out defamation whatever it is, you should be able to narrow down the subject matter being tested.

Verses crim law we see prosecutor.  The state verses whoever.

Or the prosecution verses whoever.  Right so there's no way they can hide that.  And do you know crim law is one of the lowest scores on the multiple choice questions?

Why?

It shouldn't be.  But I think they play you and I think they put tort answers which would work if you're e it's a tort call and you use that as an answer choice so you have to pay attention if it's criminal or civil to get the correct answer choice.  Battery and assault, again different rules for criminal than civil you have to pay attention to that.  So battery criminal wise is general intent verses obviously for tort you need what?

Actual intent, substantial certainty, so there is a big difference in regards to what your prime ma fascia case you need to establish, so I want to make sure you always look at that.

Remember the call is going to narrow it down to the area being tested.  I once you read the call then you can go read the fact peat pattern if you have time, I could never this, read the answer choices first if you have that lucks sure of time.  And then read the fact pattern that can help you.

Right.

So, again, break it apart, read the call of the question, read the fact pattern mark it up.  If it's conformational isomers contracts and you see oh look, here he called Mary and asked to buy my car and she said well let me think about it that's an acceptance but it's not a counter offer, this is your process that you should be going through on the multistates so you can narrow down specifically as to what's being tested.

And again the more I can get you to mark up the fact pattern that's going to make you go through the process now you can go and glance and say here's where we form the contract.  Please all day make sure you're what?

Answering the call of the question.

It's funny because I'll get e‑mails of a student asking, why is this the right answer, because you didn't answer the call of the question.  I tricked you based on the question right?

And it made you go left when you should have gone right because you abandon the call of the questions, that's something I want you to be careful of.  Don't assume facts.  Don't make it harder than what it is.  Keep it simple.  Do not make it hard.  When practicing you obviously if you see the issue as to what's being tested.  Let's say larceny, break out the elements.

When you see let's say an example of larceny being tested is tresatory breaking, in regards to I'm a going to give you the tresatory carrying away personal property of another.  Focus on the elements and then determine based on the facts what element are they putting at issue?  What are they testing sneer so was it a tresatory taking?  Or intent to permanently deprive you need to narrow it down, what element are they looking for?

That's when you've mastered what?  The multistates.

Right.  Because again you can see based on the facts, she said she's going to return it.

Or she believed it to be hearse.  Oh, did she have the intent to permanently derived so you know what they put at issue, so if the call says what is the defendant's best argument she was going to return it right you're going to argue she didn't have the intent to permanently deprive.  That would be the best answer choice because it goes that to that particular element.  Right or I should say she bunt committing larceny, verses he had the intent to return it or no intent to permanently derive, C is the best answer because it goes to the element that's being tested.

Does that make sense?  So again I get you to narrow it down to what they're testing.  Remember when grow through the elements make sure the facts support them.

Right.  So again if the facts don't support it wasn't tresatory, right there that's the best answer choice, for torts or crim law if I can knock it out in the first element of the rule, that's the best answer choice.  So you're going to start there.

Right.  In regards to it is tresatory taking?  No that fails there that's going to be best answer choice, verses it wasn't the personal property of another.  So if you can knock it out right from the beginning.  Remember if you have a valid defense, but, you can knock it out under the element of the climb tort claim or the crim law that's a better answer choice.

Right, so even if the defense works and think about it, if you're the one that's being ‑‑ you know, actions being brought against you, criminally you would rather not be able to show the burglary verses finding a valid defense, saves you time and money as a lawyer at least, it's a more likelihood of you walking free verses the jury trying to buy your defense so you want to nook it out of the element of the crime or the tort, before you pick a answer of a defense.  Okay.

Now, remember with contracts I know you guys love contracts it's more demanding on your reading comprehension.

The facts are long and lengthy they want to run out of time and I e want you to panic they don't want you to narrow down the concept, because they know you're worried about time that's why we practice and get our timing down.  Is I want you to really use your tools your skills and start breakings it ate part and say I see the formation of the contract, what are they testing?  Previously before we form the contract, you agreed to do this, oh, [Indiscernible] evidence.  I need you to hone in on this what's being tested.  Very very important.  We talked about look for triggering facts when reading the exams.  If you see a statute, you've got to apply the statute you're stuck whether I like it or not.  So make sure you break apart the elements of the statute.  Make sure it applies, negligence per se, so say they tell you pursuant to the law it's illegal to drive without your seat belt.  Right.  So Joe's driving down the street doesn't have a seat belt and hits a little boy.

Being sued for negligence what's the duty not negligence per se, right.  In regards to the intent of the legislature.  It's to protect the driver not hitting somebody outside of the car.  So you wouldn't pick negligence per se in regards to the answer choice so you want to make sure ‑‑ again dissecting and apply.

Like for example what's the best defense or which claim will likely to succeed, rewrite the call, basically, what's the best answer choice?

Or in essence which claim will only succeed you've got to make sure you understand the call and break it apart.

You've got to choose the best answer not the correct answer, because remember when you look at these, there's usually two correct answers but what is the best?  And again I'm sure, and you can tell me that most of you are getting it down to the 2.

Right?

It's just eliminating that wrong one verse it is other.  And that's where the frustration starts setting in that's where you need to go a step further what within the issue being tested you have to go the one extra step.  You two steps down, you to master third.

Remember, your modifiers if and unless, I hope you've been using the tip I gave you, remember when you see a question is using if as a modifier, everything after that if must be true.  So yes if and everything after that if must be true.  So in essence let's go through an example of larceny, so in essence I give you the facts that she intended to return it so we see did she have the specification intent to permanently derive is what's being tested so if the answer choice or one of them says, yes if she had the intent to permanently derive that would be a good answer choice because they can see that's what elements that they're testing, verses if she was not going to take it or she was going to bring it back right?  No again it goes to the elements if she didn't have this specific intent to permanently deprive.  So everything after the if has to be true, it's that simple.

The unless modifier.  We don't like it unless, cross it off, no if and everything after that if, which is in your stem of your fact pattern for your answer choice has to be true.  So don't just look at it and say, yes if and read it.  Cross it off, so yes if, right, verses if we have yes unless, cross it off, no if, right you've got to rewrite it them so you understand what they're asking based upon the call of the question and based upon the answer choices that they're allowing you to choose from.  So it's very very important.

Now there's an example I gave you in your handout.  So let's kind of look at it.

Again, this is kind of give you an example of how you're going to break it apart.  Now remember you always start with the call of the question, so [Indiscernible] based on misrepresentation will Sam prevail.  So do I know the subject matter?

Yes I do.

Right.  I see its misrepresentation.

Now, most likely, based on the claim of misrepresentation its tort.  To do that to me in contract.  I don't think they would.  In regards to this time a call.  Right.  Because it says claim.

So I know basically, we're looking at misrepresentation, now I do know its tort so I'm thinking of my tort checklist.  The only thing I don't know with Miss Representation it could be intentional or neglect.

So would have to look at the actual facts but the call gives something away.  Now let's look at the facts.  Tammy a chemical engineer.  Okay.  She has no interest or connection with Kimco, no problem.  Tammy noticed that Kimco's most recently publicly... (Reading).

So far no problem.

The asset was a listed as a cost of 100,000... (Reading).

Okay, so she has knowledge that what they have listed on the inventory sheet is basically underpriced.

Okay.

Kimco stock is currently selling for $5... (Reading).

Okay, so obviously, 25 dollars difference per stock that's pretty good.

Tammy approaches Sam and offers him $6 a share... (Reading).

So we've got Tammy approaches Sam.  Now, in reading the facts do I see any relationship between Sammy and Tammy here?

No.

Tammy is chemical engineer, she notices their recent publicly issue financial statement, Sam is a shareholder so I don't see any relationship she's not an officer or director, so it's something that if he's a shareholder he needs to read his own financial statement from the company.  So if we go to misrep, what are we looking for its neglect representation hates to be material fact, which one justified or relied to the detriment.  Based on this can you even tell what element they put it at issue?

Right.  So would it be a material fact to know that they're estimate in the regard to the cost of the compound is way off.  Like $900,000, of course it would be material I would like to know that myself.  Make my decision.

So, they're really testing here, what?

The representation.  Because there's no facts here to support Tammy said anything.

Now, let's go option A with the because modifier, based on a misrepresentation of Sam going to prevail you need to go through and show what, if you see yes because or no because, either one, you would have to go through each element of misrepresentation and determine as to whether or not all of them are supported based on the facts.  Right.  So again by going through these elements I just stated to you, was there intentional or negative representation, she made no representation, right?

The financial statement is listed.  But she didn't make any representation to that statement whatsoever.  So it is a material fact, I agree it is a material fact, did he justify rely and he doesn't no know and to his detriment he didn't know.  In regards to misrepresentation to be satisfied is we need that representation.  So, A obviously couldn't be a correct answer.

If we use B, if as a modifier, so everything after if has to be true so, if we say yes if Tammy did not inform Sam of the true value of the inventory, now we valid defense to go through element.  Does she has an obligation to inform him?  With a misrepresentation you can make a misstatement or omit a statement which you should have made but you need some type of relationship or if he asked her something that would make her have to disclose the information.  So information after that yes if Tammy did not inform him.  She didn't have to inform him because there's no relationship.  So I know that's what?

Not a good answer.

Right.  So B's out.  Let's look at C.

So if I use as a modifier no unless, so I modify that and put yes if, everything after the if has to be true.  So if the basically yes if and if everything after the fact is true, so yes, if she made a false representation, if everything after the if is true, if she make a representation would that support a claim from misrepresentation?

Yes it would if she made a claim.  So yes, if she did.  So C looks good and that's D no if, again everything after the if has to be true.  The facts of the financial statement do not support a misrep in regards to she didn't make a representation, so C would be your best answer because it says no unless what you change to know if she made a false representation.

And if she did, the elements of misrep would be there, plus we know that's the element they're testing, based again what we read in the facts.  So you see how you go through the process of elimination that took forever a couple of minutes.  But once you start practicing and doing it and doing it.  It's easy, seconds.  So again you've got to train yourself to go through the process it's the same with anything, right so if you play golf and you a bad swing obviously you're going to keep it up unless you force yourself to correct it and do it correctly for so many times until now it becomes habit.  You're doing the same thing here.

All right.  It's going to become habit where focus on the call, make sure I'm answering the call, look to the stems in regard to the four answers of the option choice, break them apart and see what I can eliminate.  Again whatever issue is being tested has been satisfied based on the facts and then choose by answer choice.  That's so important.

Okay so does everybody have a better understanding in regards to your modifiers?  Because and the sense.  As well as the unless and the if.

Those are good tricks to learn onto.  So there's nothing better than eliminating two right off the bat I'm not going to read them.  So if you know your answer basically testing let's say it's a crim law and are guilty and if it says guilty because guilty because, not guilty because not guilty because.  C and D are out the of the window, I'm not going to second guess myself, but if A and B said guilty because and C said not guilty unless... Oh, got to reread that one, I can't eliminate, so they're changing it and take off the unless and put if, right.  And then read it from there, guilty if and read it from there so that would be an option I can only eliminate one in that case.

So, again it will help you regards to your timing and also, what we call second guessing ourselves.  So sometimes we think we know the answer but if we read all four answer choices, we talk ourselves out of it.  Can't do that.

Stick to your rules, stick to what you know, very very important.

Okay, so let's look at some multistates together and kind of break it apart.  You should have I think there's 5, in regards to this handout that were sent out you.

So let's look in regards to the first one question No. 1, what's the first thing you're going do?

You're going to look at the call of the question.

Right.

So, let's look at the call.

May Thomas bring the lawsuit now?  Well, that kind of a generic call but what is that call telling you?  Anything?

Well, can he bring a lawsuit now that sounds like what?

I don't want to wait and see what you do.  I want to sue you now, that's contract, right?

Why do I care?  Because I want my mindset on contracts while I go through what?  The fact pattern so that's important.  Again if you can narrow specifically what they're testing that's going ‑‑ now if you look at your options, no because.  No since, just because, yes ‑‑ oh I know it's a good question because I'm going be able to eliminate two if I go through the fact pattern, and break it apart.  So let's read the facts.

On November first 2009... (Reading).

Okay so we see November 2009 he entered a contract.  Basically she's going to perform on new year’s which would still be what?

Most likely 2009, right?

So basically I have entered a contract, it looks like I have mutual center, offer of acceptance, consideration.  Mozart has been very popular and has a big falling and would pack Mozart as a header the... (Reading).

So November first we have contract, December 9th he's saying I'm not showing up.  So he's repudiating.  That's a form of repudiation expressly.  May Thomas bring the lawsuit now?  When he supposed to perform.  Not December 29th, the 31st.  So do I have to wait until 31st to see if he doesn't show up and then run to the courthouse on January 1st or can I sue him on December 9th, what's the rule?  We're looking into repudiation or I refer to it as [Indiscernible] breach.  You need to show express repudiation, right.  In which, obviously was communicated, and the contract has to be in executory stages and if so you can bring the lawsuit now.

Okay, do we have an express repudiation?  He called and said I've been offered more money I'm not playing that's express repudiation, is the contract in executory stages?

And that's the element that a lot of people have a hard time.  And yes it is.

What does I mean?

For a contract to be executory stages that means that one of us is not fully performed, so in this case, in this fact pattern if they told you that the club ordinary reason paid him fully the $25,000 up front, one of them performed.  So it's not executory stages or we have both started performance.  So if one party fully performs or both parties start the performance it's not executory anymore.  If one party starts performance both start or one fully completes it's not executory stages anymore.  So, in looking at the call of the he request, May he bring a lawsuit now is the answer yes?

Or is the answer no?

And the answer's what?  Yes.

So I can eliminate option A and B right off the bat.  Don't have to waste my time.

And you don't want to.

Let's look at option C, yes because Mozart reputed the contract.

(Reading).

D is wrong.  It has nothing to do with the repudiation, it doesn't appear to any element verses C has repudiated which is one of the elements of [Indiscernible] breach isn't it?

So again, you've got to break it apart.  You've got to look again what's being tested.  So C again is the correct answer choice based upon the express words of repudiation it goes dead set to an element so does everyone understand how we eliminated two options and how we still break apart our elements and determine regards to whether or not the facts support those elements to determine No. 1 what's in issue and then of course, who's going to succeed, right?

Again, it's got to be habit forming.

Any questions on question No. 1?

All right.  Let's look at question 2.  Again always read what?  The call.

If Paul states, Paul's estate.  What am I thinking already?

The estate means he's probably dead.  So I'm thinking, okay, basically a death resulted somehow.

Asserts a claim against Daniel.  So I know it's not what?  Crimes because we have Paul's estate verses Daniel so it's a civil action.  What is wrongful death by the way?

Right.  So wrongful death is where a member of his estate is suing for the wrongful death of Paul in this case, so somehow his life has been short, so they're bringing a cause of action for his wrongful death to compensate for those losses aren't they?

If you do see this an app example you still have to prove the underlying tort so don't forget that, so you don't go through the elements of wrongful death you have to still have to prove the underlying tort to see if you prevail.  I do not it's civil, tort, now I see if it's intentional neglect, whatever the underlining tort I have to prove is.  So the facts.

Daniel owned a restore... (Reading).

Okay.  So what do we see here?  Regards to someone touching his car, that's like a form of battery and he put it on there to what is this.

To warn people, basically get away from my car.  So he does have the intent.

All right.

Paul a heart patient with a pacemaker saw Daniel's car and attempted to open the door, Paul received a mild shock which would not have harmed an ordinary individual but... (Reading).

What is the cause of action?

A battery.

What facts can we pull out here to show intent?  He wants to discourage tampering, so he installed this electric device, so he acted with intent if you touch my car you're getting shocked.

Was it harmful or offense, yes, unfortunately it gave this fatal heart attack, you or I will be harmful.  It will sting a limit and it was consent or privilege so I do have a battery don't I?

So Paul's estate is suing for wrongful death we have a problem.  Because duo have a battery, so what do you look senate what e what is the purpose of Daniel putting that device?

He doesn't want you touching my car.

So, I got to find a way, is there a defense?

Self‑defense.  Defense of others in regards to seeing if any of these are going to support my position, do we see one he might be able to argue?

Well, he's trying to protect his car, so I can argue defensive property, what do we know of Edentive property, one may defend one's property, you can use reasonable force only.  Not deadly ever.

Okay.

Now let's look at our answer choice, it saying answering no if, can I eliminate that?

No because of the if.  No because, can I eliminate no because?  So again one is state prevail in this case, it looks like we have a viable battery here so, I feel he can.  But let's say you don't know, you have to reread it.  Yes because I feel the state would prevail.  So yes if, I can eliminate one which would be B based on my logic.  If you didn't know read them all but you want to focus on what's really being tested what's the underlying tort?  Battery, look at answer choice A, no if, so remember everything after the F what has to be true.  Daniel was not using excessive force to protect his car.  So let's go back.  No if Daniel was not using... (Reading).  That goes to defense of property.  So if he's not using excessive force so I'm going to mutt a plus by that one, it looks good.  Let's look at B.  No because Paul was a trespasser.

What is the problem with that answer choice?

And for people who pick it for shame you're not sticking to what you know.

Because a trespasser have anything to do with battery?

So, so you've got to keep your eye on the underlining tort you're addressing, he was a trespasser, but we're not doing the negligence, so B's out.

Let's look at answer choice C.  Yes because Daniel's act was a substantial factor in causing Paul's death that looks good except for one thing.

Right.  It was, substantial factor.  That shows intent.

Right.  Which would find him liable, why?  But if I can show.  So A is still better than C.

D yes if, Paul had no reason to... (Reading).

We're talking about battery.  So who cares if Paul had no reason to know or if he did know?  Because assumption of risk is not a defense.  Battery either.  So D's out.  Now let's say you look at A and C, I don't know.

Let's look at C again, yes because Daniel's act was a substantial factor in causing Paul's death.

I like that one, but A, no if Daniel was not using excessive force to protect his car, which answer choice can you tell that they're really testing here?

Do I really even need substantial factor to show battery in this case?  No.  The facts gave me intent, he acted intentionally with his act to discourage tampering.  Plus, in regards to excessive force that dead set goes onto the facts of which they're telling me designed to give a mild shock, and it wouldn't cause this in a normal person so that's push you to force is it reasonable or not.  So if you can't tell go back and look at the facts say what are trying to get me to focus on here, you get defense, so A has the be the best answer, so there's multiple ways to get there if I'm not quite sure.  Use your tools go back to the facts.  So I know for question No. 2 A has to be the best answer.  Once you start playing with this that's a good feeling because when you're on the exam and you start marking them you know if you got them right or not and that always help you feel good about yourself, and just helps you get more higher scores because again we have confidence.

Question 2, A is your best answer choice.  Let's look at question No. 3.

Did Lynn commit burglary?  Step 1.  Is it civil or criminal?  Burglary.  It will have to be a criminal.  So I know it's a criminal fact pattern.  They give you a specific call.  Burglary.

What does it tell me?

I better focus on what?

The elements of the burglary.  Look and see what they're putting at issue so, I'm look at the burglary.  Then I can shift so see if any defenses are applicable.  But start with the elements with the underlining crime they give you.  When they give you specifically that you need to look at what element is being tested that's a good question.

Common law or modern law on the multi‑state you always answer same thing on the essay, common law.  If common law fails on an essay, then you go to modern law.  Unless the call puts you there.

Or what I've seen lately which I don't think is fair there's only modern law answer choice, so everything leads itself towards modern law or the facts dictate or they can tell you according to the model Penal Code.

So you've got to understand what they're asking.  Otherwise it's always common law, stick to the common law.

Right I just had a student today we don't have in regards to your contributory or comparative negligence standards, very few jurisdictions [Indiscernible] so how did he answer his question.  [Indiscernible] bring it up.

But again you answered to what?

Common law.

Unless they tell you otherwise.

So it's keep that in mind.  Common law.  And the reason I think they do this, so you understand where the law has evolved.  Right.  So you get a better understanding and so we're not trying to reargue, so it did exist at one time.  Common law.  All right.  So we're looking at the [Indiscernible] look at the facts.

[Indiscernible] bar borrowed a television set... (Reading).

Bill promised Lynn he would... (Reading).

Now, at this point, I'm thinking what's the mens rea, what is he going to his house?

Obviously to get his TV back.

Right.

Now, I'm thinking of its burglary.

So, obviously, how does he get in the house?  Bill was not at home and Lynn forced open a window.

Climbed in took his television set and walked out with it.

So, let's go through your elements of burglary.

Was there a breaking and entering.  Yeah he forced open a window.  He climbed in there's an entry.

Was it nighttime?  9:00 o'clock.

Was it a dwelling house of another?  Sure it was.

Right.

Bill wasn't home.  Did he have the specific intent to commit a felony there in?

Hm.

That's the element that's being tested.

Right.  He wanted his TV set.

It's his.

Right.  So he didn't have the specific intent.  Remember with burglary.  You need to have the specific intent at the time of entry, so if he got in and took some money, still not a burglary.

Now, his own TV so no crime, no, no, no.

In regard to his TV there's no what?

So if I steal my own TV there's no larceny so you have to look again what's the intent he's going to do inside.  So if he was going to take 50 bucks for borrowing his TV as well as the television set even though he had ‑‑ even though the television was his he intent to take something, even if he changed his mind.  That's burglary.  So did he commit a burglary?  Or yes or no and the answer I feel is is what?

No.

So, option A says yes because I can get rid of it.

Option B says yes because I can get rid of it and go to what, go to option C and D.

In regards to C no because bill was not home when Lynn went to the house, does that even matter?  Plus we know at what element is at issue.  And that has nothing to do with it does it?  Do you know that enter entered for the purpose of recovering his own television set.  But that shows he didn't have the specific intent to commit a felony or in, remember, so I know D has to be the best answer, C and D stink but D is the best because it goes to what that particular element as to whether or not he had the specific intent to commit a felony there.  So D is it.  Now this type of question, they do test a lot.  They do like the specific intent or the larceny.  Right.  There in.

So there's something you want to watch out for.  They give you this fact pattern, not only did he take his television set he took a watch that he saw on the table would that make it a burglary?  My answer choices wouldn't change, would they?  No.  But we do have an intent crime of larceny, he didn't have the intent at the I'm of the entry.

Right?  So again you've got to look at the call, if it was this type of call, no bird.  But if I change the call on you and say what crimes did Lynn commit?  At this point I would say they say no crime.  Burglary, C is burglary larceny, and then D is just larceny, what crime did he commit?

Just larceny because for the burglary, he has to have the intent at the time of entry.  So this is where they're going to mess with you, stick to guns because you know this, with the pressure of the exam and frantically with time we have a tendency to second guess yourself and we don't have time to think it through.  If he took his TV it's his, test not a tresatory taking, so it cannot be a larceny, so if they give me that answer choice, no it's his TV so if you go to the element, carrying the personal property of another, two problems, not a personal property it's his own, plus was it really tresatory taking?  It was his, so you don't commit larceny on your own objects.

Oh, now that you brought that up.  I should restate that.  You can commit.  So one thing I want you to be aware of such as services they do test this way.  So dry cleaning, you tell me it's 100 bucks for dry cleaning so I break in and steel my own clothes back, my dry cleaning, remember you can commit larceny or conversion of services or you have one on the multi‑state with your car, and with your extra spare keys you drive off you commit add crime of what?

Taking the service, so I do want you to be aware of that, they do test that.  So I don't want to put a blanket on.  But services is what you're taking in that case.

Very clever on their part.

All right.  So does everybody understand in regards to question No. 3 D being the right answer?

Okay.

Right.  Let's go to No. 4.

Is Bruce guilty of violating the statute?  What did that just tell me?  I have a statute and I need to make sure the statutes have been satisfied.

(Reading).

Bruce personally wrote and signed a letter to the president threatening the president's life we're going have a type of threat to the president.  We have duress and it's a valid defense to what except murder.  Bruce complied a statute makes it a felony to knowingly, to mail to any person a letter that threaten it is life of the president of the United States.

Oh.

So did he knowingly do this?  Yeah it looks like he was violating the statute.  I'm going beat you up physically, so he normally placed this in the mail.  So he's violated the statute.  The only thing I can look at he does a valid defense of duress, so he guilty?  Can I eliminate two?

I feel I can because no he's not because we have this statute of what?  Duress.

So I probably wouldn't read C and D, now if A and B didn't help me with that defense, then I have to go back and look, wouldn't?  I would eliminate C and D and read my answer choices A and B.

So A and B are out in left field and everything focused on that statute I have to go back and see what they're really testing here.

All right and let's look at answer choice A.

No because he did not... (Reading).

Well does he have the intent to make the president's life, this is where it gets you guys?  Does he have to have the intent?  What does it say?  Normally to mail.  So pay attention to the language.  So A properly, totally incorrect, facts everything's wrong about it.

B no because of the defense of duress.

But do you see how subtle they can be with A, no he didn't take the president's life, but that's not what the statute says.

Right.  So they easily can harm us that way, because if it was an element of the statute, that would be a better answer choice than duress wouldn't it?

Because they can eliminate the crime verses having to prove my own defense.

So again I want you to be seeing that.

Because you might get something similar but I change the statute ant you know that answer said A, you did not intent.

Because that's because they change the statute, saying if you intent any knowingly mail a letter with intent to take the president's life that can change things.  So again I need you to what?

Pay attention to the language.  Make sure you break apart the elements it's very important.

Right.  And see again what's being test sod when I force you through the steps it doesn't seem hard does it?  That's what you need to get in the habit of breaking it apart.  So again for question 4.  B has to be the correct answer, doesn't it?

All right.  Last question in regards to No. 5 let's read again the call.

Did... (Reading).

What do you need?  I need an agreement between two or more to commit an unlawful act find the conspiracy each of these elements have to be satisfied.  So now, when you go through the facts see if you can find them.

Ed told Pete an auto mechanic... (Reading).

Pete agreed to perform the work... (Reading).

Don't see a problem there.

And then he would receive an additional... (Reading).

Oh.

So there's an agreement if he agrees to it.  It's between Ed and Pete is this an unlawful act?

Absolutely.  What are you helping with?  Further answer of ta crime.  Helping perpetrate a crime.  Can he be guilty in rewards to conspiracy, yes or no?  Again I say it's yes, why?  Because the unlawful act he's agreeing to take some of the proceeds from a car he's known is stolen and he's taking part of the proceeds from it.  Isn't he?

That's a crime.

All right.  Yes yes, I have to be A and B.

Well, I like that I'm not sure, yes because he agreed to rebuild the answer engine.  Is that true he agreed to rebuild the engine, right now knowing the car was stolen does that make it a crime?  No.

So disect it you see that comma, always make sure everything in regards to that commas are true.

So he did agree that's true.

But knowing the car was stolen that doesn't make it a crime.  So I know the car is stolen, I mean there's no obligation on me to tattle.  So A is not correct.

B, yes because of the property he agreed to receive on the profit of the sale of the car that's the unlawful act.

So B is what?  The correct answer.

All right because that's the unlawful act based upon the facts.

Okay.

Again, it's simple if you what?  Break it apart and look to what it is.

A would be an easy answer too pick.  But really read it, that's not a crime.  Because you're taking proceeds from the stolen vehicle I'm going to sell it and taking some of that money.  Now remember when you miss a multi‑state I want you to figure out the why, so question 5 if I put day, why did I do that?  Why did I get it wrong?  Yes he agreed to do it.

That's the agreement of the conspiracy, but knowing the car was stolen doesn't show the unlawful act.  Oh I didn't carry it through.  I got too excited.  The profit is an unlawful act.

Which B really satisfies what the elements of the conspiracy?

I can get you to be representation and go through this.  You need to look through this, why did I choose A verses B and figure that out?  Once I can figure out and see why B is a better answer choice, I've learned from it and I'm not going to make that mistake?  Merely just reading the answer choices that doesn't help.  Most of you probably read them and go, oh I knew that law, I guess I forgot.

That's not usually a reason why you miss it.  You've got to break it apart and say wait a minute I was focusing on the agreement.  I didn't proof all of the elements of the conspiracy, I need to do that.

Right because if I don't what that's going to hurt me is that is something I want you to be aware of and that you know.

All right.  Now you were sent, I believe, 33, I think there were 33, or maybe 100, multistates as well.  I do want you to do those if you haven't and then if you haven't any questions on those shoot me an e‑mail on those.  I would be willing to help you anyway you can.  I needs you to understand why, why is this a better answer choice.  That's very important, because if you don't figure out you're going to get the second best answer and you're going be frustrated.  At this point, today is the 6th we have approximately 2 weeks, right, and a few days before that actually baby bar date.  This is where your time is to shine you need to start upping anti, start doing more multistates so if you've been doing 5 or 10, up it.  Start working on your issue spotting you have to get your timing down, timing is very important.  I do want you to go over the last baby bar and do them last week.  Because they do test similarities comes right back, I'll be sick to my stomach if they test you and you miss it.

Make sure you understand it and why that argument is there, because I do see repetition, so I want to see you're breaking it apart.  We have another one coming your way, actually several but one will be going over next week, to write them and get them to me because I can tell where your down fall is, we can tell where our weaknesses are.  You want to focus on your weakness not your strength.  Because I know what my strengths are, it's my weaknesses I need to work on.  Does anybody have any questions at this point?

Okay.  Now in regards to cramming the test and working hard that's what we do.

But again I tell people it's kind of not how many hours you do, it's your quality.  So are you learning from your mistakes?  Because I know people tell me they've done 5,000 multistates and still getting 50, 60, oh obviously you're not learning from your mistakes you to go back and look at the why or I have people tell me in regards to I'm missing issues all the time you're not going to remedy the problem, why are you not seeing this issue.  That's important, are you still going to do the same mistake over and other and over that's where frustration comes in, because I know this stuff, but what's happening?

Right and we're not correcting your weakness we've got to look at that.  I know we don't like that, none of us do but we have to, I want you to focus on that.

All right.

Yes, so you're going to learn your weaknesses and if you have questions throughout the week, shoot me an e‑mail.  This is a tough test I've been very straightforward with you, it's not an easy test I tell you most people in any inked school won't do well either, until they study on it.  It's testing a lot of analytical skills, you haven't developed yet.  You haven't gone through law school yet.  But can you pass?  Absolutely.  Working on those multistates and seeing that score go up.

Right that's going to make a difference.

Does anybody have any questions before we say good night?

You do need to review UCC.  I've told you, I sent you handout too what areas are testable on the mutt states you want to look at that you can see on the essays your prominent factor verses gab man test, battle of the forms, it comes up warranty, boy when that came down ton baby bar it burned a lot of people.  UCC in contracts they weren't prepared for it it's the same as torts but you need to set it up and talk about it on a contract exam.  That's very very important.

Okay.  All right well you guys have within great if you have any questions be free to shoot me an e‑mail.  Look for those simulating, you'll be sent out exams in the next couple of days, write them and shoot them over to me and so I can take a look at them and see where our weakness is.  You guys have been great and I wish you all a good night.   
[7:00pm]
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